

باقدم دقت

شماره پانزدهم : 15

نام خانوادگی: کیا رحیمی

الف)
$$\begin{aligned} \frac{y}{2} &= -2x + b \rightarrow y = -4x + 2b \\ & \quad b = -14 + b \end{aligned} \Leftrightarrow a = \frac{2+2}{2-5} = -4$$

$$y = -4x + 14 \Leftrightarrow 2 = -14 + b \Leftrightarrow y = -4x - 1$$

$$y = 4x - 1 \Leftrightarrow \frac{y}{4} = x - \frac{1}{4} \Leftrightarrow y = 4x + b \Leftrightarrow -\frac{1}{4} = \frac{1}{4} + \frac{b}{4}$$

ب)
$$y = \sqrt{2}x - 4\sqrt{2} + 2 \Leftrightarrow (2) \quad y = \sqrt{2}x + b \Leftrightarrow m = \sqrt{2}$$

الف)
$$\sqrt{(2+1)^2 + (2-1)^2} = \sqrt{9+1} = \sqrt{10}$$

ب)
$$\frac{|ax+by+c|}{\sqrt{a^2+b^2}} = \frac{|9+12-3|}{\sqrt{9+14}} = \frac{18}{5} = 3 \quad 3x+4y=3$$

$$3x+4y=1 \quad (3x+4y=4) \times 2 \rightarrow 6x+8y=8$$

$$3x+4y=1$$

الف)
$$\frac{|c-c'|}{\sqrt{a^2+b^2}} = \frac{|12-1|}{\sqrt{14+16}} = \frac{11}{\sqrt{30}} = \frac{2\sqrt{15}}{13}$$

$$\frac{|a'x+b'y-c'|}{\sqrt{a'^2+b'^2}} = \frac{|ax+by-c|}{\sqrt{a^2+b^2}} \Rightarrow \frac{|3x-2y-1|}{\sqrt{13}} = \frac{|3x+2y-14|}{\sqrt{13}}$$

$$|3x-2y-1| = |3x+2y-14| \Rightarrow \begin{cases} 3x-2y-1 = 3x+2y-14 \Rightarrow x-2y = -2 \\ 3x-2y-1 = -(3x+2y-14) \Rightarrow 6x+4y = 15 \end{cases}$$

$$y = -3x + 2 \quad y = 3x + 2$$

$$\tan \alpha = \left| \frac{a-a'}{1+aa'} \right| \Rightarrow \left| \frac{2+3}{1+6} \right| = 1 \Rightarrow \alpha = 45^\circ$$

$$B \begin{vmatrix} -\omega \\ \tau \end{vmatrix} \quad A \begin{vmatrix} \mu \\ -\tau \end{vmatrix} \quad \sqrt{(\tau+\omega)^2 + (-\tau)^2} = \sqrt{4\tau^2 + \omega^2} = 10 \quad (\text{الف})$$

6

$$\frac{-\omega + \mu}{\tau} = -1 \quad \frac{\varepsilon - \tau}{\tau} = 1 \quad \left| \begin{array}{c} -1 \\ 1 \end{array} \right. \quad (\text{ب})$$

5

$$\begin{vmatrix} -1 & -\tau & \mu \\ -\tau & \mu & 1 \end{vmatrix} \quad y = \frac{1 + \tau - \tau^2}{\mu} = -\tau \quad \left| \begin{array}{c} -\tau \\ -\mu \end{array} \right. \quad (\text{الف})$$

7

$$x = \frac{-1 - \tau + \mu}{\mu} = -\tau$$

5

$$\frac{1}{\tau} \begin{vmatrix} -\omega & -\tau & \mu \\ -\tau & \mu & 1 \\ 1 & \tau & \mu \end{vmatrix} = \frac{1}{\tau} (-\omega\mu - \tau^2 - \mu^2 - 9 + 4\mu - \tau\mu) = \frac{\mu\omega}{\tau} \quad (\text{ب})$$

$$y \rightarrow y \quad x = \frac{\tau y + 1}{\varepsilon y - \tau} \quad (2) \quad y = \frac{-\tau x - 1}{\varepsilon x - \tau} \quad (\text{الف})$$

8

$$x \rightarrow -x \quad \varepsilon \omega y - \tau \mu = \tau y + 1 \quad \varepsilon \omega y - \tau y = \tau \mu + 1 \quad y = \frac{-\tau \mu + 1}{-\varepsilon \omega - \tau} \quad (\text{ب})$$

$$\tau y + 1 = -\varepsilon \omega x + \tau \mu \quad y(\varepsilon \omega - \tau) = \tau \mu + 1 \rightarrow y = \frac{\tau \mu + 1}{\varepsilon \omega - \tau}$$

1,0

$$y = \frac{-\tau \mu + 1}{\tau + \varepsilon \omega} \quad y + \tau = \frac{\tau x - \tau}{x - \omega} \quad y + \tau = \frac{\tau(x - \tau) + 1}{\tau x - \omega} \quad x = x' + \tau \quad (\text{الف})$$

9

$$y = \frac{-\tau \mu - \tau - \tau \mu + 1}{x - \omega} = \frac{-x + \tau}{x - \omega} \quad y' = \frac{\tau x' + \omega}{x' - 1} \quad x' = x - \tau \quad y' = y + \tau \quad (10)$$

$$y - \tau = \frac{\tau(x - \tau) + 1}{x - \omega} \Rightarrow y = \frac{\tau x - 9 + 1 + \tau \mu - 1\tau}{x - \omega} \Rightarrow y = \frac{\tau x - 1\tau}{x - \omega} \quad y' = y - \tau \quad y' + \tau = \frac{\tau x' + \tau}{x'}$$

$$\begin{cases} \tau x + \varepsilon y = \tau \\ x - \omega y = 1 \end{cases} \quad \begin{cases} \tau x + \varepsilon y = \tau \\ \tau \mu - 1\omega y = \tau \mu \end{cases} \quad 19y = -1 \Rightarrow y = -\frac{1}{19} \quad y' = \frac{\tau}{x'}$$

10

$$\tau \mu + \frac{\varepsilon}{19} = \tau \Rightarrow \tau \mu = \frac{\tau \omega + \varepsilon}{19} = \frac{\varepsilon \tau}{19} \Rightarrow \mu = \frac{\tau}{19}$$

$$x = \frac{\begin{vmatrix} \varepsilon & \tau \\ -\omega & 1 \end{vmatrix}}{\begin{vmatrix} \tau & \varepsilon \\ 1 & -\omega \end{vmatrix}} = \frac{\varepsilon + 1}{-1\omega - \varepsilon} = \frac{1\varepsilon}{+19}$$

$$y = \frac{\begin{vmatrix} \tau & \tau \\ 1 & 1 \end{vmatrix}}{\begin{vmatrix} \tau & \varepsilon \\ 1 & -\omega \end{vmatrix}} = \frac{\tau - \tau}{-1\omega - \varepsilon} = -\frac{1}{19} \quad (\text{ب})$$

5